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Updated method:

N=A ℒ σ t where A = acceptance
              = luminosity
              = cross-section
           t  = time
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          M = target mass
           I  = incident current

  e = electron charge
  z = target thickness
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Now when relating the simulated xs to our experimental yield we 
can estimate a single scaling factor across all materials 
(acceptance)
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- Calculating a carbon yield 
from dilution runs:

- Relating the carbon yield 
to a cross-section from PB.

- Calculating a helium yield 
from dilution runs:

- Relating the helium yield 
to a cross-section from PB.

In both cases A = 2.6x10−9



  

3.350 GeV Nitrogen Dilution

Nu (MeV)

Now using the acceptance 
scaling factor we can relate 
C12 to N14:
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Using A =                     
          a= 1.17 

(still need to account for an 
energy dependant scaling 
factor). 

2.6x10−9



  



  

3.350 GeV Dilution

Nu (MeV)

Calculated dilution 
using PB

Nucleon ratio
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